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QUESTION 1

An Independent Samples T-Test can be used to test whether there is a significant difference between the incomes of
males and females. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 2

If you request an aggregated dataset or data file in the Aggregate procedure, the number of cases in the new
aggregated file is equal to what? 

A. Number of cases in the original data file 

B. Number of aggregated summary variables 

C. Numberof cases that you specified in the Aggregate Data dialog box 

D. Number of categories of the variables specified in the Break Variables list 

Correct Answer: D 

 

QUESTION 3

As the sample size increases, the amount of variabilit9 in the distribution of sample means increases. 

A. True 

B. False 

Correct Answer: B 

 

 

QUESTION 4

The Compute Variable dialog shown below performs which of the followingoperations? (Choose two.) 
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A. Sets the value of ParentEduc equal to the value of MAEDUC. 

B. Sets the value of ParentEduc equal to the value of MAEDUC if the value of GENDER is 

C. 

D. Sets the value of ParentEduc equal to the system-missing value if the value of GENDER is blank. 

E. Sets the value of ParentEduc equal to the user-missing value if the value of GENDER is blank. 

Correct Answer: BC 

 

QUESTION 5

The reason you would select the check box next to “indicate case source variable” in the Add Cases dialog box is to: 

A. Create a new case in your merged data. 

Latest C2090-011 Dumps | C2090-011 PDF Dumps | C2090-011 VCE Dumps                                3 / 4

https://www.passapply.com/c2090-011.html
https://www.passapply.com/c2090-011.html
https://www.passapply.com/c2090-011.html


https://www.passapply.com/c2090-011.html
2024 Latest passapply C2090-011 PDF and VCE dumps Download

B. Highlight a specific case in one of your variables. 

C. Create a variable identifying the case data source. 

D. Create a variable identifying the variable data source. 

Correct Answer: C 
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